Sr

10

1"

12

13

14

15

Questions

LS G it 1S 81 3 S ey (S Sl S 2

=Sl (S

IRk PNV P YISIVOR I W A\ F QPSP W XN FRPN SV B L ELY: P QUIVE: i ST PETARWEUEN

SalS 8 ) s g gy SR el b Jaad s O ) U S 0 Gl (S 3 oS R

S lS o B s et 5 el e p oS 2y oK ) 058 s el (S 8 S R

S LS i 5 s g oS (e s s S el Sne e S e s

Sa LS ) 8 s g bl et uaas (S delse S dle S Cied a

el 6 e gpailal e (S dale Knodle S el

S ol 5 S 3y K S Cad S

s LS il 5 e adiae) yy 5 S Ged R

~as S Sl 8ea S au) bd

= BUS Haa g o s oyl o e G ~dies 2 Jad

du_”‘)\da_g)hlsm‘)é;l:ﬂ\

d)\ﬁnn;é:ﬁ.ﬂfcua):\g

NS e S G e i S a5 e Gasatie (S G5 S S s sy S

Answers Choice

A S ghen pal
= 0
=ik
= oS A

S g (e Caed
1S (L (e Sl
IS i (S s e 2y
S s (e (el sl e

L5 1S sy
WS S s
el 5l a5 1S )y
L3S ) Ul 1S sy

L5 S o)y
L'\)glqu
Ul IS 2y
L3S S

L5 \S au
)
U;‘S_\..U
Uj&.a.u\SAu_)

Ul 1S 2y
L5 \S au
L3S S
U;‘S;.U

Uy S 2
La 5 S o)
Uj\SuAlSAu)
LGRS

Uy 1S 2w
U5 S oy
L‘:jS.ulSu)
U_;\SMJ

Ul 1S 2y
LSS S A
L5 1S auy
L‘:}\SA..U

Uiy S 2wy
5 S

W> DOWP UOWP U0WP U0WP UOWm» 00Wr DOmP UOW» 00O

A L e Gy &Y

B. (onS Lo aflia sl il (e (12 i jlae
PRAEQLS

C. b (e iy Ay sk

D. a‘@\ﬁgu\r‘&\;;#,__uje;\@'

A. e
B. o
C. s
D. w2 455

A Sed

B. il

C. ol g Caad
D. sodli

A e (S Gy T S a8 e T
B. Sha (S i (pe 5T Jldke 5a

C.oup S eid S )y S

D. 2 S @ag)d S i 8 o jlaie s

S0 ob

Al o il
B. ik



—

—

e we—n

D. b laia



